YA Maths Kuowledae Oraaviser Topic 13: Percentanes 2.

wWhat must T be able to do?

Key vocabulary

You may veed +o revise +he following:

Mear 7 Topic 12.: Percentanes 4

New content:

O
O

J

Use percentages greater thav 100%%

Express one duantity as a percentage of another
Sparx M235

Compare Values usivg percentages
Sparx MAps, M437

Use multipliers to find a percentage of a vamber

Use multipliers to increase and decrease by a percentage
Sparx M533

Reverse percentanes: find the original quantity after a

percentage increase or decrease
Sparx M52.%

Wultiplier The decimal value you can multiply a
number by to quickly caleulate a
percentage, or percentaoe ncrease and
decrease.

Reverse
percentage

Working backwards after a percentage

change to find the origival value.

| Writing one number as a percentage of avother |

L Divide the first mumber by the second +o turw into a
i decimal then multiply by 100 +o thanae nto a percentane.

- e.9. Simon scores 30 out of 75 n a test. What percentage
is this?

i Comparing values using percentages

75

30 ;
— X100 = 40%o :

.9 Mark took 2 exams. In WMaths he scored 45 out of 0
+ aud in Buglish he scored 20 out of 3%. Tu which exam did
i he do best?

Waths:

i He scored higher in the Maths exam.
| Wultipliers

To quickly find a percentage of somethivg, change the
percevtage into a decimal by dividing by 100. This is the
L omaltiplier. Then multiply your value by +his decimal.

.0, Find 187 of 220.

| Multiplier: 25 +100 = 0.25

i Ewnglish:

| Waltiplier: 19 + 100 = 018

: e.0. Decrease 1H20 by 757

45
— — 257,
20 100 = 56.25%

20
= — (77
%6X’\OD 52.6%

This is 1%% of 320
04D X 320 = 576 “

If you decrease
1000 oy 750 ;
there is 25% left |
0.25 X 1220 = 455

a—

Reverse percentanes

First work out what percentage is given in the question.
Thew scale to 1770 and back +o 100%% to find the original
amount.

e.). A caris sold for £4500. This is a 20% profit. How
much was the car bought for originally?

\ J
Y Y
Original cost Profit
100%% 2.0%

In total we have 12.0%.

120 = £4500
=120 +120
1% = £37.50
X100 x 100

100% = £3750

e.9. A pair of jeans is bought v a 30 off sale and cost
£20.20. How much did they cost originally?

\ Y J \ J
Sale price 300
£24.20

The sale price must represevt 70%% of +he original price.

70%% = £34.20
+70 +70
1% = E£D.56
x 100 X100
100%% = £56
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